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Please make sure that the printed. pages in this
question paper are 16 in number and it contains
19 questions.

. yevw#w@#w#eﬁrﬁ###gwwﬁzﬁ

JELgT.qY g
The Co@ and Set on the right side of the
que paper should be written by the candidate

front page. of the answer-book.

. ﬁﬂgwwaﬁ?/%@wgm%ﬁ#w 97 @ BHE
o797 [}

Before. beginning to answer a question, its Serial

Number must be written.
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Don't leave blank page/ pages in your answer-book.

o FuYTE % SaRad #g o 9 7@ AR o
STPTHATEr & i@ 3T frar FaT 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o GOl STy T To FIF-GH YT G/asT fid)

Candidates must write their Roll Number on the
question paper.

* Y g7 & FAT 37 G g7 78 GrRad FT . [H JeT-H
g7 g @& & e # S 39 G F #HE A aar
BT & [T A3

Before answering the questions, ensure that you
have been supplied the correct and complete
question p , no claim in this regard, will be
entertai after examination.

>
W@"
(i) G JT SFaT &

(i) J@% F7 % [ERd 9% 5d @md Ry
7T 8
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(iii) 597 FE 1 F AAE (i-xvi) TGS FT 7 aer

T &1 JE9% FIT 1 6 F &1 MRFEr 37 oA &
Fv o

(iv) 797 q&qr 2 @ 8 % SHa-Tgaidw 997 & [

J9%F J97 2 S # & F9F F FaT TG
30 9= @ SfeF 7E & aET

(v) o7 T 9 § 16 % FITIEE 597 &S

TA9% J97 4 oJF FT &1 J9%F F FaT THTT:
60 9= @ dfdw T& &g TRy

(vi) F97 & 17 @ 19 T%. G FaHes J97 &[5

J9%F J97 6 SJH &1 F9%F F IaT TG

13065 @ it 7 dor B

$
(vig\w g g ged § SNE g YT 8

' R F @ g FaT wF & 57T T &

(viii) T HHT G, GEIIHE T G Gl T 9
g 7&l &
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(4) 4311/(Set : B)

General Instructions :
(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos. 2 to 8 ‘are very short answer
type questions carrying 2 marks each.
Ans@&o these should normally not exceed
(bg)%ords each:

S
@ Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed

60 words each.
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(5) 4311/(Set : B)

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130
words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt
only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ TGS 597 |

[ Objective Type Questions |

=T qglasedia 5971 % @el ey gl -
Choose the correct alternatives of the following
multiple choice type questions :

\Q'&jzf%? 1
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(6) 4311/(Set : B)

Which of the following statement fits well

with macro-economics ?

(A) Study of national income

(B) Scarcity and choice are studied
(C) Private production is promoted

(D) None of these

(i) e agg @ Rafy &, AFT a6 B oA o § A

In c@%f Giffen goods, the slope of demand

Q‘%@ eis:
AN

V(a)  Positive
$

(B)...Negative
(C) Parallel to OX-axis

(D) Parallel to OY-axis
4311/(Set : B)
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(i) ‘vfowd & Faw, = & 9 fee fera & s
e fp o § 7 1
(1) rT
(@) i fERer
(|) @ B
(=) S
'The Laws of Returns' are studied under the

theory of :
(A) Demand
(B) Price determination
(C) Factor pricihg
(D) P@luctlon
(iv) a5, # 3N & B - 1
&?W o B
N\
(). s
(@) et X
(3) ¥ & #3 T
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Indifference curve is to the origin :
(A) Concave
(B) Convex
(C) Straight line
(D) None of these
(v) T sfEfa § o & wgad @ Rafy SR,
Sq ¢ 1
() MC=TR
(@ MC=MR
(@) McC=TC
(7 AC=AR

Urgeﬁggcondition of perfect competition the
QA§6 is in“equilibrium, when :

@QQ\ (A). MC=TR
(B)*“MC = MR
(C) MC=TC
(D) AC = AR
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(vi) ‘99 fasa &=’ g€ &5 ol §, PrEd - 1

(31) agell @1 IR B B

(3) awgstt & IUART B B

(1) 7&1 SR & S B

(3) awgelt @1 oM iR i 2 B
'Rest of the World Sector' is the one which
(A) Produces goods.
(B) Consumes goods.

(C) Lends money.

(D) Exports and Imports of the goods.
(vii)ﬂﬂ@%ﬂﬂwmaiﬁﬁ%? :
%
\\\Q@ S
S @\ s 1
(9) woar S
(3) wwiwm # @ B @
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(10) 4311/(Set : B)

Which bank is authorized to issue

currency ?

(A) Central Bank

(B) Commercial Bank
(C) Cooperative Bank

(D) None of the above
(vii) ¥ MPC = 0.5 8, @ T (K) H I &M :

(a) 1 @ o6

®) 2 () 4

If MPC = 0.5, then the valte ‘of multiplier
(K) will be :

(A) 1 (B) 6

(C) \@Q (D) 4

@%%ﬁaﬁﬁwm ALY -
D

e whether the following statements are true
r false :

(ix)" qif &1 ©ih § FR AR AEI BN 8 1

There is no difference between supply and

stock.
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(11) 4311/(Set : B)

(x) A #® A GEde 5, Wy N E8
et § L e B 1

'Law of demand' is universal, however, it

does not apply in some cases.

(xi) 9 @ P FI-ICE @1 F FEd 2 1
Budget line is also known as iso-product
line.

(xii) TPH TH TIIH BT &l 1

Income tax is an indireect tax.

(xiii) ‘URT FRAY T F WU HE B B 1

'Indp&ég investment' depends on the level

‘%@CO me.
Q

N
@&@)ﬁ%ﬁwwﬁwmmm)w%,ﬁw

(K).F & 1 (TH) 2R 1

If marginal propensity to consume (MPC) is

zero, then multiplier (K) will be 1(one).
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(xv) HE @G W GDP = #HEN @fd W
NDP - fE@Ee 29| 1

GDP at factor cost = NDP at factor

cost — Depreciation.

(xvi) R AT T FAE ¥ § <R @0 0 81 o

There is difference between balance of trade

and balance of payments.

[ ST 999 |

[ Very Short Answer Type Questions: ]

2. IR B HET THE F G A RO M § ! 2

What are the two main causes of the central

problem of an economy ?

3. = aﬁﬁ/a@x\a@z T Bl § 7 2
What a%%ferlor goods ?

4. a?s%@ww%? 2

@hat is production function ?

5. FHAINGT & TSR ¥ oMY F1 g9 & 7 2

What do you understand by compensation of

employees ?
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TES and PAPERS at StudentSuvidha.com


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com
Free Hand Highlight

Free Hand Highlight

http://studentsuvidha.com/
http://studentsuvidha.com/

(13) 4311/(Set : B)
6. ‘TEN M AR ‘TWAR A P T & Y gAY 2

Write down two differences between 'factor

income' and 'transfer income'.

7. ANRE SH B & FE IABU 2

State two functions of Commercial Banks.

8. faffg T & g g 2

Give definition of exchange rate.

[ TS 59 ]

[ Short Answer Type Questions ]

9. Tewdl I I fadwart fafew 4
N
Explaing%he characteristics of indifference
curv ¥
D
1o.‘§‘ﬁq@’aﬁ%@ﬁa%ﬁwﬁ 4
Explain 'increase in supply' with the help of
diagram.
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11. Tfte ordemed RN T ? SOH 8 PH-AME ¢ 2+2=4

What is macro-economics ? What are its scope ?

12. AEd IUAW W (APC) SR @M SuAET SRy
(MPC) & § ? 4

What are Average Propensity to Consume (APC)
and Marginal Propensity to Consume (MPC) ?

13. Y1 & %3 77 w1 TRy 4

Explain any four functions of money.

14. o TSR e &1 = dfed e S 4

Explain the full employment equilibrium with
the help of (&Qgram.
K&Q

15. F P R Bl g AT FeE 4
NS

A
§@&t is Tax ? Explain main features of tax.

16. ‘U AW T P AT H FX W HifT| 4

Distinguish between 'balance of trade' and

'balance of payments'.
4311/(Set : B)
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[ & TS 997 ]

[ Long Answer Type Questions ]

17. HT 6 R 2 ? AT O F AN A B AR FFH
g B § 7 2+4=6

What is demand curve ? Why does a demand
curve slope downwards ?

e

OR
U B BT A R FEd & 7 3 A B g o
fafey &t e & 2+4=6

What is price elasticity of demand ? Explain the
'total expenditure method' t6 measure it.

18. WW%?MﬁWW| 2+4-6

What @hgopoly ? Explain its characteristics.

& area
S
OR
ot SREIRET TR & S SRy 6
Explain the characteristics of perfect competitive
market.
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(16) 4311/(Set : B)
19. TS M & AGA & ‘7T [l & e a3 6

Explain 'income method' of measuring national
income.

gar
OR

A UM Bl T F SE B P 39 AT 9 dhd
AT ST Gl & 7 3+3=6

What is meant by error of double counting ?

How it can be avoided ?
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